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Note: This paper is of seventy five (75) marks divided into three (03) sections A, B, and C. Attempt the

questions contained in these sections according to the detailed instructions given therein.
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: Ug Ygalus uggae (75) M @ § wr dlar (03) Wi &, @, gur or & Renfea ¥

gdF @wvs i e ow Rega (&l & sigeme & geell & 50 Fear 3l
Section - A | @vs-®
(Long Answer Type Questions) /(ra-3adler gzer)
Section ‘A" contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt any
three questions. (3%15=45)
@os ‘F F urg (05) dd-3udw usa Ru ¥, yds wsa & fou uss v forafRa ¥
frsgt dter geait & Iae AR
aabenesr A ufdemur dfdre Tur P Rvg-geg o Rdger Fifm|
Define Logic and describe its Subject Matter.
gfdsfts & uwsuwrora goffawor ue gyarer sife|
Elaborate upon the traditional classification of Proposition.
i @ sl JaTsd CT @D yopRg 3ol o Taf Hforal
State the meaning of ‘Argument’ and discuss its main parts.
AT & TIRT TJ TP AT UT U el
Highlight the nature and importance of Induction.
Fruar & forerr ue fega fRwoft BBRaw|

Write a detail note on ‘Law of Causation.

Section - B /| @wvs-@
(Short Answer Type Questions) /(eg-3adiear gze)

Section 'B' contains Six (06) short-answer-type questions of five (05) marks each. Attempt any
four (04) questions. (4%5=20)

: WUs W H B (06) BY-IUHT e W I ¥, DS W & fw uiw I frafRa ¥

fFed a1 gzl & Ia¢ dfeal

. ToRIeT & Fewd B FIT F garsT|

State the importance of logic in brief.

qeaeT TT Gaforenes o T WIEey 8%

What is the relation between Logic and Philosophy?
g ud ufgeifes 3 sieie Sarsd|

State the difference between sentence and proposition.
TIaT T Jgar F 3T 7T IAIT 87

What do you understand by Truth and Validity?
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5. 3garer & feroraeend ugfd @ Iareenr wfed garsd |
State the process of deductive inference with example.
6. 3moTAST & AT F WU FT TAAIT 52

What do you understand by Fallacy of Induction?

Section - C / @us-ar
(Objective Type Questions) /(aedfers gze)

Note: Section 'C' contains ten (10) objective-type questions of one (01) mark each. All the questions of

this section are compulsory.

(10x01=10)

e : @Wus or & (10) aegfors vz RU o ¥, v usal & faw wah (01) 3w forafRa ¥

39 w@Wus & it gzar siferaref ¥l

1. RroafeRaq F-& da—ar rad gdde s a8 § 2

(31) 31 (@) safeu
(@) uRumaa: (@) dfd
Which one of following is not a conclusion indicator word ?
(A) Hence (B) Therefore
(C) Consequently (D) Since

2. dodIRT Ged BT &
(31) o @) o

(&) 31w § qar

Propositions are always .................ccoenennn.

(A) True

(3) IUP oF F P o

(B) False
(D) None of the above

(C) Both Aand B
ki

(37) T @ T g
(&) o @ g Aar

LOGICHS v

(A) A science of Logic
(C) BothAand B

4. fororreTors e o duar FrafRs ad ¥

(31) sge fovg-geg &
(@) Rug-geg AR e et

The validity of a deductive argument is determined by

(A) Its content
(C) Both its form and content

5. Rt off d gfe 3 dao o Fao AT §

(31) e ug
(&) diT ug

Any valid argument has only and only .............

(A) Three Terms
(C) Five Terms

(@) T I T For
(?) 3udreh F F P wiEf

(B) An art of Logic
(D) None of the above

$40440040000000000000000

@) TP TP F
(?) 3udreh F F P wiEf

(B) Its form
(D) None of the above

4044004044000400000400000040

(B) Four Terms
(D) Six Terms

In an Inductive inference there is inference
(A) Of universal from particular
(C) Of universal from universal

(@) sy & v @
() v & v o

(B) Of particular from universal
(D) Of particular from particular

7. ufdsnfer & uwaumrorg aoffawor & @nft Ager wruefie ¥ ufdsnfar ¥ ...

(37) sirTdY
(&) TesrRuT

(@) udedt
() 3uerh IF F PE aff
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In traditional classification of Proposition ‘All men are mortal” is Known as
(A) Particular (B) Universal
(C) Doubtful (D) None of the above
8. @ fomufe gfp & forpw 3 afd A ug o snar T, Uy el smaTE arEer o AT 5,
ar I8 UG B e

(3 I uT @) T uT
(&) e ug (?) feRad
The term of a ‘Syllogism’ which does not occur in the conclusion, appearing instead in both premises, is
called ................eenn.
(A) Major Term (B) Minor Term
(C) Middle Term (D) Indefinite
9. THTTGHAIST FT AR §
(37) GTCIar (&) e
(&) goar () ufdearuer
The basis of “An analogy’ iS .........cccoovviiiiiiiiii e,
(A) Identification (B) Differentiation
(C) Comparison (D) Replacement
10.& wcamdit & dto PRUAT Tawew I UG wReT & T F. . o ugd TR F e
(31) & forerar (&) de Rrer
@) o= G (3) urg forar
For examining causal — relation between two enonts, J.S. Mill presents ......................c........
(A) Two Principles (B) Three Principles
(C) Four Principles (D) Five Principles
X

Page 3 of 3



